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300 Management and Administration Core
4. Finance
Worksheet 6: Business calculations (tutor)
[bookmark: _Hlk100919409]Last year sales revenue for Cupcake Pi was £141,600 with a gross profit of £117,600. 
Using these figures, calculate to 2 decimal places the gross profit margin for Cupcake Pi (show your workings).

Formula (Gross profit/Revenue) × 100
= (£117,600/£141,600) × 100    
[bookmark: _Hlk100920806]Gross profit margin is 83.05% 

Following a major supermarket order, Cupcake Pi’s projected annual accounts for the following year are:
Sales revenue: £650,000
Other expenses: £270,200
Cost of goods sold: £140,000

Using these figures, calculate to 2 decimal places the projected net profit margin for the next year (show your workings).

[bookmark: _Hlk112051294]Formula: Net profit for the year = (Revenue – Cost of goods sold –  Expenses)
Or, Net profit/Revenue × 100
650,000 – (140,000 + 270,000) = £239,800 net profit
Projected net profit margin: (239,800/650,000) × 100 = 36.89% 

Sara has been asked to produce a regular order of undecorated wedding cakes for a commercial customer. The following information is available:
Fixed costs for a production run of wedding cakes = £8,000
Average variable costs per cake = £6.00
Selling price per wedding cake = £38.00

Using the above information, calculate how many wedding cakes Cupcake Pi needs to sell to break even.

Formula: Fixed costs/(Selling price – Variable costs) = Break even units
8,000/(38 – 6.00) = 250 wedding cakes sold to break even
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